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1. State the branch of biology that deals with the study of:-

(a) The relationship between organisms and their environment (lmk) 

....... � ................ ..................................................................................................... .

······························································································································ 

(b) Chemical changes in living organisms (lmk) 

. . . . . . . . . . .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . ... . . . . . . . . . . . . . . . . . . . . . . . •.• ..................... . 

······························································································································ 

2. State two importance of studying Biology as a subject (2mks) 

····························•·.•································································································

. . . ······························································································································ 

t • • • • • • • • • • • • • • • • • • • • .......................................................................................................... 

3. Below is the structure of a phloem tissue.

T -:.-------
�---

-+-f-H-..... -•.- --· . . -� � s

(a) (i) Name the structure labelled T (lmk) 

· · · · · · · · · · · · · · · · · · · • •.• · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · :- · · · · · · · · · · · · · ·· · · · · · ·· · · · · · · · · · · · ·  

(ii) Structure R (lmk) 

········································································································•······················ 

· · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · -· · · · · · ·· · ·· · · ·········· ·· · · ··· · · ·

(b) State the function of structure S (lmk) 

. · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · ··· · · ·· · · · · · · · · · · · · · · · · •!· • · · · · · · · · · · · · · · · · · · · · · · · · · · · · · • • .• · · · · ·· · · · · ·· · · · · ·· · · · · · · · · · ·  

······························································································································ 

(c) Name one organelle abundant in structure S
/ 

(lmk) 

······························································································································ 

···························································································································
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4. (a) When observing a specimen through a light microscope, a student noted that the field of view

was dark. Name 2 parts of the microscope the student should adjust to make the field of view

clear (2mks)

· · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · ·  .

. •·· .. .. . .. .. . . .... . . . . . . . . . . . . . . . . . . . . . .. · ........... � .. .. . . . .. . . . .. . .•.. . . ... . . . . . . . . . � ...................................... .

(b) A specimen was magnified 1000 times by a light microscope whose eye piece lens

magnification is Xl 0. Calculate the magnification ·of objective lens 

5. An experiment was set up as �hown in the diagram below.

lass rod 

'---l====="lf----Thread 

��=-:=:,,=::..-:�---Sucrose solution 

-nii::m--""'_=_=_�_-_-_-..--41isking tubing 

==-t---Distilled water 

The set up was left for 30minutes 

(a) Name the physiological process demonstrated above

(2mks) 

(lmk) 

............ _ . . . .. . . .. .. .. . . . . . . . . . . . . . . . . .  -....................... · ............ � ........................... •'• ................... .

(b) State the_ expected results (lmk) 

.................................................................................... , .................. _ ................................................. · .. 

. (c) Explain your answer is (a) above (3mks) 

······························································································································· 

· · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · . . 

· · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · : · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · •.• · · · · · · · · · · •-• · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · ·  

·································.:·····························································································

· 6. To estimate the population oftilapia, 60 fish were captured marked and released in the second

capture, out of 72 fish,_ 10 had been marked. Calculate the estimated population of tilapia (show

your working) (2mks)

........................................................ � ..................................................................... .
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.......... · .................................. � ........... � .................................................................... . 

(b) What is the name given to this method of population estimation (lmk) 

· · · · · · · · · · · · · · · ·· · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · 
' 

. 

. 
. . 

· · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · ·  

( c) State two assumptions made when _using the me1hod named in (b) above (2mks) 

..................... :: �-! • .-:�•·'!' •••. : • ..................................................................... � • � •••••• -.................. . 

·· · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · ·· · · · · · · · · · · · · · · · · · ·· · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · ·· · · · · · · · · · · · ·

7. The apparatus below illustrates breathing in mammal.

Capi/�
. tube Rubber

balloon

Rubber 
plug

\ 
�yringe

case 

(a) What structure in a mammal is represented by the following

(i) The rubber balloon

(ii) The syringe case

(3mks) 

................................................................. ·-·........................................................... l 

(iii) The plunger

· · · · · · · · · · · · · · · · · · · · · ··· · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · 

(b) Describe what happens if the rubber plug is pulled in the direction shown by the arrow

(lmk) 
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8. Study the homoestatic scheme below

Excess 
" less hormone A-

Normal concentration of 

sodium ions in the blood 

Deficiency 

C 

,. 

Normal concentration of

sodium ions in the blood 

C 

I Release of hormone A . .

I 

.. I .. 

D i Further deficiency 

(a) Identify the hormone labelled A (lmk) 

, ............................................................................................................................. . 

. 
- . 

······························································································································ 

(b) Name the site of action of hormone A (lmk) 

. 
. . 

� 

······························································································································ 

( c) Identify the feedback labelled D

9. The figure below shows 2 types of animals A and B

A 

(a) Identify the phylum to which these animals belong

(b) Name the classes to'which the organisms belong

A -------------

-------------

(lmk) 

(lmk) 

(2mks) 

(c) Give two characteristics which are used to put these organisms into the classes(2mks)
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· 10. (a) Give the use of the following apparatus in collection of.specimens

(i) Bait trap (lmk) 

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  •, ................................. •, . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  � . . . .  ; . . .

(ii) Pit fall trap (lmk) 

. - . . 

······························································································································ 

(b) The scientific name of an organism Musca domestiva which taxonomic unit does Musca

represent .. (lmk) 

······························································································································ 

. ....... : . . .  : ....... •. • ............................................... ' . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . ( 

( c) G_ive two reasons why classification is necessary in living organisms (2mks) 

.............................. •. � . . . . : .................................................. ' . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . � . . . . . . .  ;, . . . . . . . . . . . . . . . . . . .  � . . . .  · ....... : . . . . . . .

11. Study the diagram below and use it to answer the questions that follows

(i) Name the process illustrated above

6 

�-L 
�

231/1 BIOLOGY 

embryo 

(lmk) 

TURNOVER 

for
 m

ore
 fre

e r
ev

isio
n c

on
ten

t v
isit

: w
ww.fre

ek
cs

ep
as

tpa
pe

rs.
co

m



14. (a) Stat� the location of each of the following plant meristematic tissues

(i)Vascular cambium (lmk) 

. . ' 

· · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · ·  

(ii) Intercalary meristem (lmk) 

............................. ;:································ ·························
r
·······--······························

(b) Distinguish between primary growth and secondary growth in a flowering plant (2mks)

. . 

. . . . . . . . . . . . . . . . . . . . . . . . . . ... . . . ..... . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . �· .. . . ... . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  · . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  - . . . . . .

15. The apparatus below was used to investigated anaerobic respiration

Oil film 

Yeast+ 10% 

lime water 

solution 

(a) How would you remove dissolve oxygen from the glucose before the experiment starts

(lmk) 

0 o o o o O O O O O o o o O O I O  O O o O O O O o O O O O O O. 0 0 0 0 0 0 0 0 0 0 0 0 ♦ 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o o O O O O o o o o o O O O O o O O O O O o o O O O O o • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • • e • 

• (b) What wasj:!J.e importance of cooling the glucose solution before adding the yeast

suspension (lmk) 

······························································································································· 

( c) Wh�t was the use of oil in the experiment (lmk) 

······························································································································· 

(d) What observation would be made in test tube Bat the end of the experiment (lmk)
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(ii) When is the above process conducted (lmk) 

.................................................................... � ............................... .-........................ . 

12 

(b) How are the following parts adapted to their functions

D .......................................................................... . 

B 

(a) How are the lenticels adapted for gaseous exchange

(2mks) 

(lmk) 

(2mks) 

. . . . . . . .. .  . . . . . . . . . . . . . . . . . . . . . . ··• .............................. : . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  ; .................... ·. . . . .  . 

(b) Other than the lenticels name other two structures used for gaseous exchange in plants

(2mks) 

13. The diagram below illustrates three types of fruits

fruit F 

Giving a reason in each case state: 

. 

4 

Seed___;,, 

fruit G Fruit H 

(a) (i) The mode of dispersal for fruits F and G (2mks) 

F- ·····································································,···························: ..... . 

. 0- ..................................................................................................... . 

(ii) The type of fruit G (lmk) 

(b) State one observable adaptation of fruit H to its mode of dispersal (lmk) 
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· ( e) Suggest a control for this experiment (lmk) 

. .

· · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · •. • · · · · · · · · · · · · · · · · · · · · · · · · ·

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  � ....... • ............... · .................................................... . 

16. (a) What are the two functions of bile salts during the process of digestion (2mk) 

. . 
· · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · ·  . . .

...... _ . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  ; ..... . 

(b) State two adaptation of herbivores whi�h enable them to digest cellulose · (2mks)

···························•.•··,································································································ 

' . . 
· · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · ·  . 

..,,, 

17. The graph below represents the growth of animals in a certain phylum.

lVIass in 

grams 

Time in days 

a)Name the type of growth pattern shown on the graph.

--p 

(lmk) 

····································································································•.•·········••.•············ 

.............................................................................................................................. 

b )Identify the process represented by P · (lmk) 

............................................................................ � ................................................ . 

······························································································································ 

c)Name the hormone responsible for; the process (P) in (b) above . (lmk) 

······························································································································ 

.............................................................................................................................. 
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d)What does Z represent (lmk) 

18. 1'qame two kidney disorders (2mks) 

· · · · · · · · · · · · · · · · · · · · · · · ·-· · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · ·  

· · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · ·  
' 

' 

. . - -
· · · · · · · · · · · · · · · · · · : · · · · · · ··· · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · ·  

19. To investigate an aspect of a physiological process in green plants. The set up below was used by

a form one students .The student recorded the number of bubbles produced for 10 minutes.

Boiling tube �/'fr],/ Lil(ht source 
l 

--

= ::.� 

-..... ---water+dilute hydrogen carbonate 

a) Suggest the aim of the set up. (lmk) 

· · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · ·. · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · 

· · · · · · · · · · · · · · .. · · · · · · · · .. · · · · · · · · · · · · · .. · · · · · · · · · · ·  .. . . .. . . . . . . . . . . . . . . . . . . . . .. .. . .. .. . . .. . . . . . . . .. . . .. .. .. .. .. .. . . . . . . . .. . . . . . . .. .. . .. . .. .. . .. . .. . . ..  . 
' . 

b) Give two reason why the student preferred to use a water plant. (2mks) 

.. . . . . . . . .. . . . . .. .. . . . . . . .. . .. .. . . .. . .. . .. . .. . .. ... .. .. .. . . .. . .. .. .. . . .. . . .. . . .. .. .. .. .. .. .. . .. .. . . . . .. .. . .. .. .. . .. .. .. ..... .. . . . . . .. . . . .. . .. .. . . .. . . .. . .. . . . .. . .. .. .. . . .. . .. .. . .. . . .. .. .. . .  

.. . . . . . . .. . . . .. .. .. . . .. . . .. .. . .. . .. . . . . .. . .. . . . . . . . .. . . . . .. . . .. .. . .. .. .. .. . . .. .. . . . . .. .. . . .. .. . . . . .. . . . . .. . .. . . . . . . . .. .. .. . . . . . . . . .. . . .. . .. . . .. . .. . . . . .. . .. .. . .. . . .. .. .. . .  

c) What was the use of sodium hydrogen carbonate in the experiment?

' 
., 

(lmk) 

.. .. . . .. .. .. .. . . .. . . . . . . . .. . .. . .. .. . . .. .. . .. .. .. . .. . . . .. . .. . . . .. .. .. .. .. . . . .. .. .. .. . . . . . . .. . . . . . .. . . .. . .. .. .. . . . . . . . .. . . . .. . . . . . .. .. . . .. .. . .. .. . . .. . . . .. . . . . .. . . . . . .. . . .. . . . .

20. Name the pl�t excretory product w�ch i�
. ' 

(a) Stored in bark of cinchona trees tubes used for treatment of Malaria . (lmk) 

. .. .. . . . . . . . .. .. .. .. .. . .. . .. .. .. . .. .. .. .. .. .. .. .. .. .. . . . .. . . .. .. . . .. .. . .. . .. .. .. .. .. .. . . .. .. .. .  · . . . .. .. . . .. . . .. .. .. .. .. . . .. . . .. . .. . . . . .. . .. . .. . . .. . . . . .. . . . . . . . . . . . . . .. . .. . .. .. . .. . . .. . . .

. . .. . . .. .. . . . . . . . .. .. . . . .. . . .. . . . .. . .. . .. .. . . . . . . .. . . . .. . . . .. . . .. .. .. . . . . .. . . .. . . .. . . . . . . . . .. . .. . .. . .. . .. .. . . . . . . . .. . . . .. .. . .. . . . . . . . . . .. .. .. . .. .. . . . . . . . .. . . . . . . .

b )Obtained from raw fruits and is used as a meat tenderizer . (lmk) 

. . .. . .. . . . . .. . . .. . .. .. . . . .. . . . . . .. . .. . .. . .. . . . . .. .. .. .. .. . .. .. . .. . .. . . .. . .. .. .. . . .. . . . .. .. . . . . . . . . .. .. . .. .. .. . . . .. . . .. .. . . .. .. . . .. .. . . . .. . . . . . . . .. . . . . . . . . . .. .. . . . . . . . . .. .

. .. .. . . .. . . .. . .. . .. .. . .. . . . . .. . .. .. .. .. . .. . .. .. . . . . .. . .. . . . . . . .. . . .. . . . . . . . . .. . . . .. . .. .. . . . . . .. . .. . . . . .. .. .. . . .. .. . . . .. .. . .. . . .. . .. . . .. . . . . . . . . . . .. .. . . .. . .. . . . . .. .. . . .. . .
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21. The diagram below repres'ents a process of the heart that constitutes a heartbeat.

A 
B 

a)i)Identify each of the process labelled A and B. (2mks) 

. . 

· · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · • ·.• · · · · ·

. . . . . . . . . . . . . ... .... . . . . . .. . . .. . . . . . .. . ........ . .... . . . . ..... .... ..... . .. . . . ............ . .. . ..... . . . ... . . . . . . .. . .. . ............ ... 

· · · · · · ··· · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · • ·. • · · · · · · · · ··· · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · ·  

ii)Give a reason for each of the answers in "(i) above (2mks) 

· · · · · · · · · · · · · · · · · · ·-· · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · · ··· · · · · · · · · · · · · · · · · · · · · ··· .· · · · · · · · · · · · · · · · · · · · · · · · ·

. . . . . ...... ........... . . . . . . . . . . . . . . . . . . . . . . . . . ..... . . . . . . . . . . . . . .... . . . . . . ....... . . . . . . . . . .... . ... . .. . . . ......... ............ 
. . 
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